B ¥ B [\ 505 72 B (1)

AYSIAPSYANPSE- sy : @)

RO—ERBEEMZ B ERDFOTOREDHE —
/kllgf—%(a—kbyt%—ab::(x—%cﬁ(x—%b) N
(2122 + 2ax + a® = (¢ + a)° L
[3122 — 20z +.a® = (z — a)” L%&%E’ib“%‘%
[4]2% —a® = (z + a)(z — a) _
X025 a DUROACTRL, RehO—MEBSRR TERANH)

<f5>
42 fdr+1=(22)" +2x (22) +1 (+1) > +6(x+1)+5=DM" +6M + 5%

= M?+2M +1 = (M +1)(M +5)
:U\’f‘|‘1)2 :($+1+1)(ﬂ?+1+5)
— (22 + 1) = (x+2)(x +6)

X ZOBNIFEICER. N2REBL. REICEEDA#HFETEOK
LU, ERTDEREDHENEHL /LDMBEHDIDTER !

< Tife AR >
KO % R R X (4) Qz+1z+ 22+ 1)y
(1) 92* + 12z +4

(5) (z+3)*+4(x+3)+3
(2) 2527 — 1

(3) 4a?+4x — 15 O Lrmur =

SakuranoStudyRoom <#EF5eEo BE = >



B ¥ B [\ 505 72 B (1)

AYSIAPSYANPSE- sy : @)

RO—ERBEEMZ B ERDFOTOREDHE —
/kllgf—k(a—kb)x%—ab::(x—+c0(x—%b) N
(2122 + 2ax + a® = (¢ + a)° L
[3122 — 20z +.a® = (z — a)” L%i%ﬁ?’ébﬂ"é\%
[4]2% —a® = (z + a)(z — a) _
X025 a DUROACTRL, RehO—MEBSRR TERANH)

<f5l>
42 fdr+1=(22)" +2x (22) +1 (+1) > +6(x+1)+5=DM" +6M + 5%

= M?+2M +1 = (M +1)(M +5)
= (M +1)° =(z+1+1)(xz+14+5)
— (22 + 1) = (x+2)(x +6)

X ZOBNIFEICER. N2REBL. REICEEDA#HFETEOK
LU, ERTDEREDHENEHL /LDMBEHDIDTER !

< MERR R E >
RO % R R o (4) Qz+ 1Dz + 22+ 1)y
(1) 922+ 122 +4 2r+1=MeBLLL
Jr=MbtEBt x4+ 1)z + 2z + 1)y = Mz + My
927 + 12z + 4 = (3z)* + 4 x (3z) + 4 — M(z +y)
= M* +4M + 4 =2z +1)(z+vy)
= (M +2)*
= (3x + 2)*
(5) (x+3)*+4(x+3)+3
(2) 25$2_1 r+3=MtBlt
5,7;2:M }::}3<22 (x+3)+4(x+3)+3=M+4M+3
262" — 1= (52)" — 1 = (M +3)(M +1)
=M*—1 = (z+6)(z+4)

(M +1)(M —1)
(52 4+ 1)(5z — 1)

(6) (z—y)*—16
(3) 4x® +4x — 15 r—y=M¥Bt
2e =M Bt N2 a2
42? + 4z — 15 = (22)® + 2 x (2z) — 15 (v =) =16 = M"—16 |
= M?+2M — 15 = (M+ (M -4
= (M +5)(M - 3) =@-yt+de—y-9
= (22 +5)(2z — 3)

SakuranoStudyRoom <#EF5eEo BE = >



